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problem

set S

indexi € S

parameter a;, ¢;, b

integer variable z; € {0,1}
maximize z = Y ¢;T;

subject to Zlaixi <b
¥ MathType iZ &> TUTD L H 72 TeX BRICEH#H X
na.
A\ [

{\text{problem}} \hfill \newline
{\text{set}}\,S \hfill \newline
{\text{index}}\,i \in S \hfill \newline
{\text{parameter}}\,a_{i} ,c_{i} ,b \hfill
\newline
{\text{integer}}\,{\text{variable}}\,x_{i} \in
\{ 0,1\} \hfill \newline
{\text{maximize}}\,z = \sum\limits_{i}
{c_{i} x_{i}\ } \hfill \newline
{\text{subject to}} \hfill \newline
\sum\limits_{i} {a_{i} x_{i} } \legslant b
\hfill\ \newline

\]
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/* PROBLEM */
Set S;

Element i (set = S§);
Parameter a(index = i), b;

i, type = binary);

i), c(index =
IntegerVariable x(index =
Objective z(type = maximize);

z = sum(c[i] * x[i], i);



/* Constraint(s) */

sum(ali] * x[i], i) <= b;
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sin cos tan arcsin arccos arctan

z
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sec csc cot asecacscacot

sinh cosh tanh arcsinh arccosh arctanh
sech coth asech acsch acoth hypot

exp €” log log,, z*

[z] |z] |z| z mod y
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index 1,
variable z;
parameter y;, T =6 arctan(%)
Expression a;, b, ¢;
a; =3+ exp(—(y; — z3)?/(223))
b= 22 exp(—(yi — z4)%/(22%))
i = =22 exp(— (3 — 52/ (202)
235
minimize  — Y log((a; + bs + ¢;)/V27)
i=1
subjectto 1—z1—222>0

0.001 < z; < 0.499, j € {1,2}
100 < z5 < 180
130 < z4 < 210
170 < z5 < 240
5<z; <25 je{6,7,8)
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index 1,7
parameter N,1;,045,p
variable T

minimize

subject to

x1>0 i€ {l.. N}
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problem
Set Samples, T
Variable c,v, 0
index 1 € Samples,j €T
Variable e;
Parameter  x;,y;, 7D
Expression A, b;
A:=108—-12¢% - 18
b := —o2(48 — 37%)/A
bl = —oy(8+ 3)/A
=—(28-3y2—-6)/A
=xz; —Tp
minimize Z e
subject to 26 log |b2:cf + biz; + bo|
_ 2b1+ b1 /b2 tan_l( _2byzitby ) — v
(V/aboba—tD) (aboba—1)
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